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HwJavascript

44

a’).5eq(b), () ->{

a”).passign(6);

44




s 3
O sy I




HwJavascript

> window.addEventlistener(“load”, function () {
I alert(D);
g, false);

: > Sexec(S(WINDOW, "addEventListener”, $call("load", () -
= Salert($val(5)); .




HwJavascript

g window.addEventlistener(“load”, function () {
- alert(5);
1, false);

i> pubhc class MyCode extends Hwlavascript {
public MyCode () { -

Sexec(S(WINDOW, "addEventListener”, Scall("load", () -=

Salert(5); | '
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> .abe { margin: 5px; |

> $(“.abc”).$margin(5);
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Hw(Css

> ;abc { margin: Spx; }
- .123 { padding: 5px; }
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- abel23 (margin: 5px; padding 5px;)

L 5(%.1237).5padding(5); o
B 5(“.abc123”).$extend(“.abc”). $extend(“.1237);
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> select a.id from a

.

‘-=,_,.__?>,$:,._sh_ele‘ct($ col(“a.1d”)).Sfrom(“a“)

A.f_:‘ \,
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> select b.d, b.name

> Sselect(Scol(B.ID), Scol

- Sfrom(B. TABLE




> select a.ad, b.name

& from 2a,




HwdSql

> select a.ad, b.name
from a

- Jom b onauid = bad

Scol(B.NAME
$fr0m A TABLE _
Sjoin(B.TABLE, Scol(A.ID).$eq($col(B.ID




> select b.ad, b.name
from b

Where bad in (1,2,3

i> Sselect($Scol(B.ID), Scol(B.NAME
~ .Sfrom(B.TABLE
ywhere(Scol(B.ID).Sin(1, 2, 3




> select b.ad, b.name
from b

‘where b.id in (1,2) or b.id = 3

= > S$select($col(B.ID), Scol(B.NAME)
. “$from<B.TABLE>
$Where<
$001(B D). $m(1 2).50r($col(B. D). $eq( ))




HwdSql

> select b.parent_id, max(b.age
from b

~ group by b.parent_id




> select b.name
from b

Order by b.name

.$fr0m B. TABLE _
~ .Sorder($Scol(B.PARENT ID




HwdSql

> select b.parent_id, max(b.age)
F fromb
'group by b.parent_id
havmg Count(b parent_id) > 1

& 5 SselectScol B.PARENT_ID), $max(B.AGE))
~ Sfrom(B.TABLE)
F ;$group<$C_O](B.PABENT_ID))
. .Shaving(Scount(B.PARENT _ID).5gt(1))




